Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

Table of Contents

F. HIgh-CUTITENT MOTUIES ...eeiiiiiiiiiiieiiieeieeeee ittt e e e e e e e e e e e e eeeseeaeeeeeeeeeeeeeeeeeeeeeeees F-2
PCS5—HIgh-CUIrent MOAUIE .....uveiiieiiieiiiiieeeiee ettt e e e e e e e e e e e e e e e eeaeeeeaeeeeeeeeeeeaeeaeeees F-2
1. PrOTUCT OVEIVIEW ..ottt ettt e e e e e ettt et e e e e s e bbbttt e e e e e e e bbbt e e e e e e e e e e ennnees F-2
P [0 5] = 11 = LA 1 o PP PP PPPPR F-4
2.1 Module Cable INSTAlAtION ......eeiiiie e F-4

2.2 MOAUIE INSTAITALION ...ttt F-8

2.3 MOAUIE REMOVAL....ciiiiiieitiie ettt e e s nr e F-8

(@0 T=1 =110 o [P PPPPPPP F-9

Y F= TR =T 0= T Lo = PP PP PP F-10

5. Troubleshooting and Service ProCEAUIES ... aannnnnes F-11
Lo TN R 1 o U] o] F=1S3 g oY £ 1 o SRRSO F-11
5.1.1  TroubleshOOtiNg SEQUENCE........c.coi et e e e e e e e e e e e e e s ennnnes F-12

5.2 SEIVICE PrOCEUUIES ...ttt ettt ettt ekt ne et e e e s s F-13
5.2.1 Master Module Contact Tip Replacement ........ccooviiiiiiiiiiiiiiccee e F-13

5.2.2 Tool Module Contact Tip and Wave Spring Replacement .............ccccoovveriieiiieiiinneenns F-14

5.2.3 Module Contact Base RePIaCEmMENt..........ccviiieiiiiiiiiiiiiiie e e e e e e e F-15

5.2.4  SEal REPIACEMENT ... .uiiiiiiiiiiee et e et e e e e e e e e e s e s s raeaeaeeeeenaannnee F-19
SEIVICEADIE PAITS ...t e e e e et e e e e e e e e e s F-20
SPeCIfiCatioNS ... F-20
DIAWINGS ottt e et e et et e et e e e et et e e e et e et e e e e e e e et e e et e e e e e e e e e e e e e e e e e e e aaaeaaaeaaaaaaaaaaaaaans F-21

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-1



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

F. High-Current Modules

PC5—High-Current Module

1.

Product Overview

The high-current modules are designed to carry high-current from a power supply to customer tooling. They consist
of (3) plated copper contacts, each capable of carrying 150 Amps when coupled. The voltage should not exceed 600
\olts. Power must be off when coupling and uncoupling. In addition, the installation of over-current protection in
the primary power supply circuit is recommended.

DANGER: This module has a voltage of the 50 V or greater; always remove the power before

& contacting the module. Arcing and damage occur If the power is not removed from the module
during maintenance or service. Always remove the power before attaching or disconnecting
cables, separating or inserting the mating couplers, or making any contact with the Tool
Changer or Utility Coupler.

CAUTION: To avoid damage to the contacts, never uncouple the unit without first
disconnecting and discharging the power that passes through these pins. This is especially
true when using high voltage circuits.

The high-current modules use advanced, patented, cone-mating technology to transfer current from the Master

to the Tool. The mating conical surfaces provide a large contact area, excellent alignment capability, and enable
efficient coupling/uncoupling without high spring forces or excessive wear. If required, the contact tips on either the
Master or Tool can be replaced without removing the wiring.

The contact tips on the Master side are recessed below the surface and contain a central insulated post. The modules
were designed so that the finger of an average human adult cannot touch the metallic parts. The center contact is
designed to engage first and break last and is intended for use as a ground contact.

The high current Tool module provides compliant motion in the power contacts, ATI requires the Use of high-flex
type with fine stranding cables and proper strain relief to allow for 4 mm of motion as specified in the Section 8—
Drawings.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-2



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

Figure 1.1 —PC5 Modules
Optional Fitting Plate

(9005-20-2469 Shown)
(Can be installed on either end) /9121-P05-M

Optional Strain Relief

Cord Grip\

End Plate Assembly
(Can be installed on either end)

(5) 150 A/ 600 V Power Contact
(5) 150 A/ 600 V Power Contact

Optional Strain Relief
Cord Grip N

/9121-PC5-T

Optional Fitting Plate/
(9005-20-2469 Shown)

(Can be installed on either end) End Plate Assembly

(Can be installed on either end)

A fitting plate is required to support a customer supplied strain relief fitting to grip the customer supplied cables.

Different configurations are available, contact ATI for availability. An end plate assembly is provided to protect one
side. Refer to Figure 1.1.

When a PC5-T module is not used on the Tool-side, a 9121-PAD-T may be supplied (per customer request) to
protect the Master side power module from dust, debris, and weld spatter.

Figure 1.2—Protective Cover for Tool-side (PAD-T)

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com
F-3



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

2. Installation

The PCS5 modules have (5) high-current electrical contacts. A fitting plate may be specified at the time of the order
to support a customer supplied strain relief fitting. Once the fitting plate is installed on the modules, the prepared
cable ends are fed through the strain relief and into the modules where the conductors are attached to the contact
bases. The center contact is designed to engage first and break last and is intended for use as a ground contact. For
ease of cable installation, it is recommended that the modules be removed from the Tool Changer.

The high-current modules are typically installed by ATI prior to shipment. The following steps outline field
installation or removal as required. These steps also detail connecting cables to the contacts.

A\

DANGER: This module has a voltage of the 50 V or greater; always remove the power before
contacting the module. Arcing and damage occur If the power is not removed from the module
during maintenance or service. Always remove the power before attaching or disconnecting
cables, separating or inserting the mating couplers, or making any contact with the Tool
Changer or Utility Coupler.

A

WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless
the Tool is safely supported or placed in the tool stand, all energized circuits (e.g. electrical,
air, water, etc.) are turned off, pressurized connections are purged and power is discharged
from the circuits in the accordance with the customer’s safety practices and policies. Injury
or equipment damage can occur with the Tool not placed and energized circuits on. Place
the Tool in the tool stand, turn off and discharge all energized circuits, purge all pressurized
connections, and verify all circuits are de-energized before performing maintenance or
repair(s) on the Tool Changer or modules.

A\

CAUTION: Do not use stiff, heavy stranded cables which can inhibit operation of the high
current module. Stiff cables can prevent compliant motion of the contacts and cause an
intermittent or improper power connection. Operation of the high current module requires the
customer supplied cables to be high-flex type with fine stranding and sufficient strain relief to
allow free cable motion.

>

CAUTION: Do not use fasteners with pre-applied adhesive more than once. Fasteners might
become loose and cause equipment damage. Always apply new thread locker when reusing
fasteners.

2.1 Module Cable Installation

Tools required: 5 mm Allen wrench (hex key), 18 mm socket, ratchet wrench, torque wrench, wire stripper

1.
2.

If already installed on the Tool Changer, remove the module. Refer to Section 2.3—Module Removal.

If the fitting plate is installed, remove the (4) M6 socket head cap screws that secure the fitting plate to
the module and remove the fitting plate.

If the end plate assembly is installed, remove the (4) M6 socket head cap screws that secure the end plate
assembly to the module and remove the end plate.

To access the inside of the housings, remove the (6) M6 socket head cap screws that secure the module
cover to the mounting plate and remove the module cover.

Remove the (5) split-bolt cable clamps.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-4



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

Figure 2.1—Remove the Module Fitting Plates and Cover (Master Module Shown)

/Module Cover

(4) M6 Socket (5) Split-Bolt Cable Clamp
ocke

Head Cap Screw\

.. Mounting Block

IS Optional
End Plate Assembly < - Fitting Plate

|
]
(2) M6 Socket

Head Cap Screw

(4) M6 Socket
Head Cap Screw

(6) M6 Socket—"1
Head Cap Screw

6. Insert the customer supplied strain relief fitting into the fitting plate. Refer to Figure 2.2.

7. Orient the strain relief fitting as desired. Use an appropriate tool and tighten the strain relief to the front
face of the fitting plate.

8. Use (2) of the M6 socket head cap screws to attach the fitting plate to the desired end of the mounting
plate. Leave these screws slightly loose at this time.

9. Use (2) of the M6 socket head cap screws to attach the end plate to the other end of the mounting plate.
Leave these screws slightly loose at this time.

CAUTION: Do not use stiff, heavy stranded cables which can inhibit operation of the

& high current module. Stiff cables can prevent compliant motion of the contacts and
cause an intermittent or improper power connection. Operation of the high current
module requires the customer supplied cables to be high-flex type with fine stranding
and sulfficient strain relief to allow free cable motion.

10. Feed the cable(s) through the customer supplied strain relief fitting(s) and prepare the cable ends by

stripping the insulation back approximately 3/4” (19 mm). Do not cut individual strands while stripping
the cable insulation.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com
F-5



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

Figure 2.2—Install the Customer Supplied Cables (Master Module Shown)

(2) M6 Socket

5) Contact B
Head Cap Screw (5) Contact Base

/Customer Supplied Cabling

W,
\

\ - A\ _a—Optional Fitting Plate

Optional Strain
Relief Nut

/ /" Optional Strain

Relief Grip

Mounting Block

(2) M6 Socket
Head Cap Screw

Figure 2.3—Wire Stripping and Clamping

Ensure individual strands
of wire are NOT cut during
the stripping process

Ensure the clamp lug is not
clamping the cable jacket

Ensure the entire clamp
lug is making contact
with the copper wire

11. Insert each prepared cable end into the appropriate contact base and replace the split-bolt nut. Make
sure that no loose wire filaments are protruding from the contact bases. Also, ensure that the clamping

lugs are not clamped on the cable insulation and that the entire clamp lug is contacting the copper wire.
Tighten to 90 in-lbs (10 Nm).

NOTICE: When routing cables inside the module, be sure that the cables and cable insulation
do not contact the other contact bases. Contact could cause short or damage to cable insulation.

12. Install the module cover to the mounting plate, loosely install the (2) M6 socket head cap screws that
secure the fitting plate to the module cover.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com
F-6



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

Figure 2.4—Module, Fitting Plate, and Strain Relief (Master Module Shown)

/Module Cover

(5) Split-Bolt Cable Clamp

End Plate
Assembly

.

(2) M6 Socket/

Head Cap Screw

(5) Contact Base

/Fitting Plate

(2) M6 Socket
Head Cap Screw

(2) M6 Socket—/(li

|

]

Head Cap Screw ' !
-

i

|

(6) M6 Socket/ l )
Head Cap Screw ) ‘

13. Loosely install the (2) M6 socket head cap screws that secure the end plate to the module cover.

14. Install the (6) M6 socket head cap screws that secure the module cover to the mounting plate and tighten
to 45 in-Ibs (5.0 Nm).

15. Using a 5 mm Allen wrench, tighten the (4) M6 socket head cap screws that secure the fitting plate to the
module to 45 in-1bs (5.0 Nm).

16. Using a 5 mm Allen wrench, tighten the (4) M6 socket head cap screws that secure the end plate to the
module to 45 in-1bs (5.0 Nm).

17. Tighten the cord grip nut to secure the cable.
18. Install the module onto the Tool Changer. Refer to Section 2.2—Module Installation.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com
F-7



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

2.2 Module Installation
Tools required: 5 mm Allen wrench (hex key), torque wrench
Supplies required: Clean rag

1. Clean the mating surfaces.

2. Using the ledge feature, place the module into the appropriate location on the Tool Changer body.
Align the module with the Tool Changer using the dowels in the bottom of the ledge feature. Refer to
Figure 2.5.

3. Apply Loctite 242 to the supplied M6 socket head cap screws.

4. Install the (2) M6 socket head cap screws that secure the module to the Tool Changer and tighten to
70 in-Ibs (7.9 Nm) using a 5 mm Allen wrench.

5. Connect the power connections to the module. Ensure that the connectors are cleaned prior to being
secured.

6. After the procedure is complete, resume normal operation.

Figure 2.5—Module Installation (Master Module Shown)

(2) M6 Socket Head Cap Screw

| Use Ledge Mounting
. Feature to Properly

Tool Changer—/

PC5 High Current Module/

2.3 Module Removal
Tools required: 5 mm Allen wrench (hex key)

1. Place the Tool in a secure location.

2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4

. Prior to removing the module, use a marker pen to scribe a line or indication between the Tool Changer
and module body as a reminder where the module is to be re-installed.

5. Depending upon the service or repair being done, utilities and connections to the module may or may not
need to be disconnected.

6. Remove the socket head cap screws and lift the module from the Tool Changer.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com
F-8



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

3. Operation

High-current modules carry large currents to various industrial devices and provide a separable joint in the power
wiring. To maximize the service life of these components, the following points must be observed:

A

WARNING: The contacts are not a switch. For safety and to prevent equipment damage,
disconnect and drain all power before coupling or uncoupling the Tool Changer or Utility
Coupler.

CAUTION: Do not couple or uncouple the high-current modules unless electrical power

has been disconnected and discharged both upstream and downstream from the modules.
Arcing and contact damage will occur. Remove the power and discharge both upstream and
downstream modules before coupling or uncoupling modules.

CAUTION: Improper cable routing can result in the wires and cables being pinched in the
joint between the Tool Changer plates and premature failure of the electrical connectors.
Properly route and secure all cables, particularly on the Master side.

CAUTION: Always protect the un-used Tool modules when not coupled to a Master module.
Dust, debris, and weld spatter can contaminate the contact tips, which can cause arcing and
a significant decrease in the contact life.

A
A
A
A

CAUTION: Do not use stiff, heavy stranded cables which can inhibit operation of the high
current module. Stiff cables can prevent compliant motion of the contacts and cause an
intermittent or improper power connection. Operation of the high current module requires the
customer supplied cables to be high-flex type with fine stranding and sufficient strain relief to
allow free cable motion.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-9




Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

4.

Maintenance

Once installed, the operation of the high-current current modules is generally trouble-free. Periodically, the
condition of the contacts should be checked. Any contamination on the contacts should be removed using a stiff
nylon brush. During inspection, ensure that the fasteners attaching the modules to the Tool Changer bodies are

secure.

The modules may be field serviced as needed. The following list describes how to perform various operations.

A\

DANGER: This module has a voltage of the 50 V or greater; always remove the power before
contacting the module. Arcing and damage occur If the power is not removed from the module
during maintenance or service. Always remove the power before attaching or disconnecting
cables, separating or inserting the mating couplers, or making any contact with the Tool
Changer or Utility Coupler.

A

WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless
the Tool is safely supported or placed in the tool stand, all energized circuits (e.g. electrical,
air, water, etc.) are turned off, pressurized connections are purged and power is discharged
from the circuits in the accordance with the customer’s safety practices and policies. Injury
or equipment damage can occur with the Tool not placed and energized circuits on. Place
the Tool in the tool stand, turn off and discharge all energized circuits, purge all pressurized
connections, and verify all circuits are de-energized before performing maintenance or
repair(s) on the Tool Changer or modules.

* Inspect that mounting fasteners are tight, and If loose, tighten to the proper torque. Refer to Section 2.2—
Module Installation.

e Cable connections should be inspected during maintenance periods, to ensure they are secure. Loose
connections should be cleaned and re-tightened . Inspect cable sheathing for damage, repair or replace
damaged cabling. Loose connections or damaged cabling are not expected and may indicate improper routing
and/or strain relieving.

e Inspect the Master and Tool contact tips for pin damage, debris or darkened pins. Refer to Section 5.1.3—
Master Module Contact Tip Replacement and Section 5.1.4—Tool Module Contact Tip and Wave Spring
Replacement.

e Inspect seal for wear, abrasion, and cuts. If worn or damaged, replace. Refer to Section 5.1.6—Seal
Replacement.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-10




Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

5. Troubleshooting and Service Procedures

The following section provides troubleshooting and service information to help diagnose conditions and repair the
high-current module.

A\

DANGER: This module has a voltage of the 50 V or greater; always remove the power before
contacting the module. Arcing and damage occur If the power is not removed from the module
during maintenance or service. Always remove the power before attaching or disconnecting
cables, separating or inserting the mating couplers, or making any contact with the Tool
Changer or Utility Coupler.

A

WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless
the Tool is safely supported or placed in the tool stand, all energized circuits (e.g. electrical,
air, water, etc.) are turned off, pressurized connections are purged and power is discharged
from the circuits in the accordance with the customer’s safety practices and policies. Injury
or equipment damage can occur with the Tool not placed and energized circuits on. Place
the Tool in the tool stand, turn off and discharge all energized circuits, purge all pressurized
connections, and verify all circuits are de-energized before performing maintenance or
repair(s) on the Tool Changer or modules.

5.1 Troubleshooting

The high-current modules provide a separable joint in the cabling between power sources and industrial
devices. Failure of the industrial devices to operate for any reason must be diagnosed electrically.

Table 5.1—Troubleshooting

Symptom

Possible Cause Correction

Power intermittently
functioning or not

Object trapped between modules Remove the object, then re-attempt coupling.

Ensure that the spring loaded contacts on the
Tool side can move freely and are not bound

by debris. Clean the spring pins to restore free
Contact Contamination due to operation. Clean Tool side module contacts,
environment refer to Section 5.1.4—Tool Module Contact Tip
and Wave Spring Replacement. Inspect seal,
replace If damaged refer to Section 5.1.6—Seal
Replacement

Any contamination on the contacts should be
removed using a stiff nylon brush.

Contact Pin Separation Air supplied to Tool Changer is insufficient,
Improper valve used. Refer to Tool Changer
manual for pneumatic requirements.

functioning at all Revise operating procedures to only couple/

uncouple with power disconnected and

discharged.
Module Contact Damage due to .
Coupling/Uncoupling under load. Replace module contacts, refer to Section 5.1.3—

Master Module Contact Tip Replacement and
Section 5.1.4—Tool Module Contact Tip and Wave
Spring Replacement for Tool module

Change to high-flex, fine strand cables to

Rigid customer cable connection to terminate to high current module. Route and

module termination properly restrain cables to allow for 4 mm of
motion on the Tool side.

Cable damage - Pinched, torn, or Inspect cables and contact base for damage,

fatigued cables, contact base, or contact | test cables, test contact springs, refer to

spring worn out or damaged. Section 5.1.1—Troubleshooting Sequence

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-11




Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

5.1.1 Troubleshooting Sequence

f DANGER: This module has a voltage of the 50 V or greater; always remove

the power before contacting the module. Arcing and damage occur If the power
is not removed from the module during maintenance or service. Always remove
the power before attaching or disconnecting cables, separating or inserting

the mating couplers, or making any contact with the Tool Changer or Utility
Coupler.

The following sequence is recommended for troubleshooting primary current problems:

1.

First examine all the cables, cable connectors, and power sources for problems and correct as
necessary.

2. Use a known good cable to bypass the modules and directly connect the supply to the load.

If the load does not operate properly with known good cables, the problem is in the supply or
load. Troubleshoot these components using that manufacturer’s procedures.

If the load operates properly, use the known good cables from the step 2 to connect between
the supply and Master module. Use a second set of the known good cables to connect the Tool
module to the load.

If the load operates properly, the problem is in the old cables, which must be repaired or
replaced.

If the load does not operate properly, the problem is in the high-current modules.
Externally, examine the modules for loose, missing, or damaged contacts replacing and
tightening as necessary.

Remove the covers from the modules and insure that the cables have not come loose from the
contact bases. Re-secure the cables as necessary. Torque the split-bolt cable clamp on the 200 A
shield contact base 90 Ib-in. (10 Nm).

Use a hardwood dowel or other non-metallic, soft rod to push axially on the tool side contacts
to verify free axial motion. If the springs under these contacts do not allow axial motion of the
contacts, replace the springs accordingly as outlined above in the maintenance section.

If the above steps fail to restore proper operation contact AT for service.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-12




Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

5.2 Service Procedures

The following service procedures provide instructions for component replacement.

5.2.1 Master Module Contact Tip Replacement
Tools required: 2.5 mm or 3 mm Allen wrench (hex key), torque wrench

Supplies required: Non-hardening, conductive silver bearing grease (ATl 0290-70-0000-50-008,
McMaster-Carr #1219K57, Al Technology #ELGR8501 or equivalent)

Removal:

1. Place the Tool in a secure location.

2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4

. Remove the M3 or M4 socket head cap screw from the center of the insulator post using a
2.5 mm or 3 mm Allen wrench.

5. Remove the insulator post and the Master contact tip. Discard the contact tip.

Figure 5.1—Master Module Contact Tip Replacement

M3 or M4 Socket Head Cap Screw\'

a» ‘/lnsulator Post

Contact Tip

Apply silver grease to the
mating surface between
the contact base and the
contact tip

Insulator Plate \

Installation:

NOTICE: Always replace Master and Tool contact tips at the same time (as pairs).
Failure to change both halves of a mating pair will result in the decreased life of the new
component.

6. Apply a liberal amount of the non-hardening, conductive silver bearing grease (ATI 0290-70-
0000-50-008, McMaster-Carr #1219K57, Al Technology #ELGR8501 or equivalent) with a
volume resistivity of 0.001 ohm-cm minimum to the mating surface between the contact base
and the new contact tip. Insert the new contact tip into the insulator plate and reinstall the center
insulator post.

7. For a M3 socket head cap screw, insert the screw into the insulator post and secure using a
2.5 mm Allen wrench. Tighten to 10 in-lbs (1.1 Nm). For a M4 socket head cap screw, insert
the screw into the insulator post and secure using a 3 mm Allen wrench. Tighten to 12 in-Ibs
(1.36 Nm).

8. After the procedure is complete, resume normal operation.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com
F-13



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03
5.2.2 Tool Module Contact Tip and Wave Spring Replacement
Tools required: 2.5 mm Allen wrench (hex key), torque wrench

Supplies required: Non-hardening, conductive silver bearing grease (ATl 0290-70-0000-50-008,
McMaster-Carr #1219K57, Al Technology #ELGR8501 or equivalent)

Removal:

1. Place the Tool in a secure location.

2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4

. Remove the M3 socket head cap screw from the center of the Tool contact tip using a 2.5 mm
Allen wrench.

5. Remove the Tool contact tip and wave spring from the insulator plate and discard.

Figure 5.2—Tool Module Contact Tip and Wave Spring Replacement

M3 Socket Head Cap Scre Apply silver grease to the
‘ mating surface between
Tool Contact Tip the contact base and the
contact tip.

Wave Spring

v

Insulator Plate

Installation:

NOTICE: ALWAYS replace Master and Tool contact tips at the same time (as pairs).
Failure to change both halves of a mating pair will result in the decreased life of the new
component.

6. Apply a liberal amount of the non-hardening, conductive silver bearing grease (ATI 0290-70-
0000-50-008, McMaster-Carr #1219K57, Al Technology #ELGR8501 or equivalent) with a
volume resistivity of 0.001 ohm-cm minimum to the mounting surface between the contact tip
and the contact base.

Insert the new wave spring and contact tip into the insulator plate.

8. Insert the M3 socket head cap screw into the Tool contact tip and secure using a 2.5 mm Allen
wrench. Tighten to 10 in-lbs (1.1 Nm).

9. After the procedure is complete, resume normal operation.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com
F-14



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

5.2.3 Module Contact Base Replacement
Tools required: 5 mm Allen wrench (hex key), 13/16 socket wrench, torque wrench

Supplies required: Refer to Section 8—Drawings

1.

S

Place the Tool in a secure location.

2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).
4.
5

. Using a 5 mm Allen wrench, remove the (4) M6 socket head cap screws that secure the fitting

Remove the module from the Tool Changer. Refer to Section 2.3—Module Removal.

plate to the module cover.

Remove the fitting plate and customer cable.

7. Using a 5 mm Allen wrench, remove the (4) M6 socket head cap screws that secure the end

plate to the module cover.

8. Remove the end plate.

9. Using a 5 mm Allen wrench, remove the (6) M6 socket head cap screws that secure the module

cover to the mounting plate and remove the module cover.

10. Remove the (5) split-bolt cable clamps from the contact bases using a 13/16 socket wrench.

Figure 5.3—Remove the Module Cover and Split-Bolt Cable Clamps

(5) Split-Bolt Cable Clamp '

(H4) I\QGCSOCéet '
ead Cap Screw
/ 1 |

(5) Contact Base

\(6) M6 Socket
Head Cap Screw

(4) M6 Socket
Head Cap Screw

Module Cover

11. Remove the contact tips and springs from the contact base to be replaced. Refer to

Section 5.1.3—Master Module Contact Tip Replacement and Section 5.1.4—Tool Module
Contact Tip and Wave Spring Replacement.

12. Using a 5 mm Allen wrench, remove the (4) M6 socket head cap screws that secure the

insulator block to the mounting plate.

13. Remove the insulator block from the mounting plate. Refer to Figure 5.4.

14. Remove the C-clip from the contact base being replaced.

15. Remove the M4 set screw that secures the dowel pin into the contact base using a 3 mm Allen

wrench.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-15



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

16. Tilt the insulator block to the side that allow the dowel pin to slide out. If the dowel pins do not

come out of the insulator block, tap it against the table to release the dowel pins.
17. Remove the contact base after the dowel pin has been completely removed.

18. Install the new contact base into the insulator block in the correct orientation.

Figure 5.4—Removing Insulator Block and Contact Bases

T
' \(4) M6 Socket

Head Cap Screw

(5) Contact Base

19. Install the dowel pin into the insulator block and that allow the dowel pin to slide into the
corresponding hole in the contact base.

20. Apply Loctite 222 to the M4 set screw and install the to secure the dowel pin in place. Note:

the M4 set screw should flush with the surface of the insulator block when installed completely

using a 3 mm Allen wrench.
21. Install the C-clip onto the new contact base.

& of the high current module. Stiff cables can prevent compliant motion of the

the high current module requires the customer supplied cables to be high-flex
type with fine stranding and sufficient strain relief to allow free cable motion.

CAUTION: Do not use stiff, heavy stranded cables which can inhibit operation

contacts and cause an intermittent or improper power connection. Operation of

22. Install the insulator block into the mounting plate.

23. Install the (4) M6 socket head cap screws to secure the insulator block to the mounting plate
and tighten to 45 in-lbs (5.0 Nm) using a 5 mm Allen wrench.

24. Install the contact tip to the contact base to be replaced. Refer to Section 5.1.3—Master Module

Contact Tip Replacement and Section 5.1.4—Tool Module Contact Tip and Wave Spring
Replacement.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-16



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

25. Use (2) of the M6 socket head cap screws to attach the fitting plate to the desired end of the
mounting plate. Leave these screws slightly loose at this time.

26. Use (2) of the M6 socket head cap screws to attach the end plate to the other end of the
mounting plate. Leave these screws slightly loose at this time.

Figure 5.5—Install the Customer Supplied Cables (Master Module Shown)

(2) M6 Socket
Head Cap Screw

(5) Contact Base

/Fitting Plate

ounting Block Vi (2) M6 Socket—”
ounting Bloc Head Cap Screw

27. Insert each prepared cable end into the appropriate contact base and replace the split-bolt nut
using a 13/16 socket wrench. Make sure that no loose wire filaments are protruding from the
contact bases. Also, ensure that the clamping lugs are not clamped on the cable insulation and
that the entire clamp lug is contacting the copper wire. Tighten to 90 in-lbs (10 Nm). Refer to
Figure 5.6.

NOTICE: When routing cables inside the module, be sure that the cables and cable
insulation do not contact the other contact bases. Contact could cause short or damage
to cable insulation.

28. Install the module cover to the mounting plate, loosely install the (2) M6 socket head cap
screws that secure the fitting plate to the module cover.

29. Loosely install the (2) M6 socket head cap screws that secure the end plate to the module cover.

30. Using a 5 mm Allen wrench, install the (6) M6 socket head cap screws that secure the module
cover to the mounting plate and tighten to 45 in-1bs (5.0 Nm).

31. Using a 5 mm Allen wrench, tighten the (4) M6 socket head cap screws that secure the fitting
plate to the module to 45 in-1bs (5.0 Nm).

32. Using a 5 mm Allen wrench, tighten the (4) M6 socket head cap screws that secure the end plate
to the module to 45 in-1bs (5.0 Nm).

33. Tighten the cord grip nut to secure the cable.
34. Install the module onto the Tool Changer. Refer to Section 2.2—Module Installation.
35. After the procedure is complete, resume normal operation.

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com
F-17



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

Figure 5.6—Module, Fitting Plate, and Strain Relief (Master Module Shown)

/Module Cover

(5) Split-Bolt Cable Clamp

End Plate
Assembly

.

(2) M6 Socket/

Head Cap Screw

(5) Contact Base

/Fitting Plate

(2) M6 Socket
Head Cap Screw

(2) M6 Socket—/(li

|

]

Head Cap Screw ' !
-

i

|

(6) M6 Socket/ l )
Head Cap Screw ) ‘

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com
F-18



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

5.2.4 Seal Replacement

The seal protects the electrical connection between the Master and Tool module. If the seal
becomes worn or damaged it needs to be replaced.

Supplies required: Refer to Section 8—Drawings

1.

o

Place the Tool in a secure location.

2. Uncouple the Master and Tool plates.
3.
4

. To remove the existing seal, pinch edge of the seal with fingers and gently pull the seal away

Turn off and de-energize all energized circuits (e.g. electrical, air, water, etc.).

from the insulator plate on the Master.
Pull the seal off the insulator plate.

6. To install a new seal, push the new seal into the groove in the insulator plate. It may help to wet

the seal first.

7. Push the seal completely into the groove using finger tip.

8. After the procedure is complete, resume normal operation.

Insulator Plate

Figure 5.7—Seal Replacement

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-19



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

6. Serviceable Parts
Refer to Section 8—Drawings.

Table 6.1—Master Module Mounting Fasteners

Part Number Description

M6 x 20 Socket Head Cap Screw, SS, ND Microspheres, 0-3

3500-1066020-21A uncoated lead thds. 5-7 coated thds. IFI525

Table 6.2—Tool Module Mounting Fasteners

Part Number Description

M6 x 16 Socket Head Cap Screw, DIN 912 A4 S/S (316) ND Ind.

3500-1066016-21A Microspheres Epoxy, Yellow. 0-3 uncoated lead thds. 5-7 coated thds.

Table 6.3—Special Tools

Part Number Description

3690-0000064-60 Brush, Blue Nylon All Purpose (Contact Pin Cleaning)

7. Specifications

Table 7.1—Master module

9121-PC5-M Primary Current module with (5) contacts, #4 wire, 150 A rating - Master Side

Interface

Connections (5) Power Contacts

Pass through Motor Current: 150 A, 600 V Max.

Electrical Rating i )
Plated, conical contacts, No-Touch on the Master side.

Cable Sizes #6 Thru #4 AWG (Others, Contact ATI)
Supported Split-bolt clamps are used to attach the conductors to the contact bases.
Weight 3.6 Ibs (1.6 kg)

Table 7.2—Tool module
9121-PC5-T Primary Current module with (5) contacts, #4 wire, 150 A rating - Tool Side
Interface

Connections (5) Power Contacts

Pass through Motor Current: 150 A, 600 V Max.

Electrical Rating i ]
Plated, conical contacts, No-Touch on the Master side.

Cable Sizes #6 Thru #4 AWG High-flex type with fine stranding (Others, Contact ATI)
Supported Split-bolt clamps are used to attach the conductors to the contact bases.
Weight 3.6 Ibs (1.6 kg)

Table 7.3—Tool Side cover
9121-PAD-T Primary Current Protective Bracket for Tool Side
Weight TBD lbs (TDB kg)

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-20




€0 G0d-02-0€96 | 9 C'l | €40 LM |-£ZQ0G) #103rO¥d | NOUDIOHITIONY P sealg-jse/oxen-isii4
NOISIAZY JIINNN ONIMYIT 3718 31vOS S| O HONﬁCOO ’
- q - 3 3
Buimesq Joswoysny a|Npoj Jamod GOd SH/9Z/0LUOHON'Q 48 9030 a a
L GL/EZ/OL-UOSMBT'Q ‘A8 NMV¥Q
“ILY 40 NOILYZIJOHLNY N3LLIIM 3OI¥d HLIM 3O 33T¥0 NO Ld3DX3 dINNYW U o
ANV NI @3DNA0¥d3¥ 38 OL LON ONI ‘NOILYWOLNY TVIRILSNANI 1LV 4O ALY3dO¥d ) S y— g g
Auedwo) pasejsibay L006 OSI NOILYINOLAY NI 34V SNOISNIWIQ 11V \4 v
WooBl-ReMmn — 6628'/2 646 )+ Xed TvidLSnani . lh-< “ONIMY3d 31¥OS ION Od Joeju0) Joeu0)
wooBHEDO PLT || GLIOZLL 6L L+ 1L ( ‘Q3HI03dS 11V [001 |1V J9)sepn
VSN 665/ ON Xedy “anliq yLompood L£0} ISIMIIHLO SSTINN :SILON (1001 %@ J818BIN)

\\_o>oo [esJaAlun
I

@ @

© [
© "xouddy [] N "y \
, , paidnog i = = L ] |001 §Od
7 © © 926 [ . :
© © i Vi
. . “xouddy JeiseN §0d
dAL dAL XM>
. . L=
v'Th 9'6G1 o
(looy)

1-60d-1ele (wwgz-g| abuey dug Jaley uress)
(100} 40 JB)SEW ‘PUS JBYS UO pa|eIsul 8q Aey)
aje|d Bum4 [esiaaun [euondo

1001 §Od

(']00} Jo Js)sew ‘pus
J3Y}d UO pa|[ejsul 8q Aepy)
9je|d JoA0D pu3 [esIaAluN

J9)seN GOd

(Joyse)
‘uolow JoEU02 Mojje 0} Buipuelis auy yim adAy xa|j-ybiy ayy jo W-G0d-L2l6
aq s9|qeo palddns Jawo)sno ay} salinbai |1y "S}OEJUOD S)I JO
uopow jueldwods Bunuanaid Aq sinpow 8y} jo uofesado Jadoidwi .
2SNED UBD S8|qBD POPUBLS AABSY LIS JO 8SN 8y :uonnes sjuauodwod s} 1o Jabueyd |00} 3y} ym Joejuo0d Aue 10 s1030auuod Bunew
ay} jJo uonuasul Jo uonesedas sapnjoul Ajjeroadsa siy] "1omod Buinowal alojaq
pajdwaje aq pjnoys 3o0ej3uod ON ‘4ajealb 1o AQS Jo abe)|oA e sey ajnpow siy|

Jl0c/ze|  rzs| (LW 2 4us) Buol wiwz| of uiwg woy PABUDYD SOHS| o) .
€W 9504 |ODJU0D/IS0d 0J0|NSU| JISOW £ 1€G | 0D piezeH }o0ys |ed113o9|3 - ,iyIAONVA.
210a| sojonl Uoyduoseq| Aoy

Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

8. Drawings

F-21

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com




Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

€0 G0d-02-0€96 | 9 Tl | €40 ZuEmS  |-£ZQ0G) #103rOud | NOUDHOMZIONV PR
NOISIAZY JIEWNN ONIMYYA 3718 31vOS
Buimelq JawosnY s|NPOj Jamod §Od SH92/0)-UCHON'G *Ad GA3IHO
- GL/E€Z/0L-UOSMEBT'Q A8 NMVAa
11V 40 NOILVZINOHLNY NILLRIM 3OIdd HLIM 3O 330¥0 NO L1d3IDX3 dINNVW
ANV NI @3DNQ0¥d3¥ 38 OL LON "ONI ‘NOILYWOLNY TVIJLSNANI 1LV 4O AL¥3dO¥d ) -STHONI
Auedwo) paisjsibay 1006 OS! NOILYINOLNY NI 33V SNOISNIWIA TV
WooB-iEMMM 662971/ 6161+ Xed TvigLsnani . h< 'ONIMYYA 31VOS ION Od
wooBI-IEDOU BT G L0TLL 616 S+ 1oL — p———
VSN 66622 ON “xedy ‘onuq ypompood €0, 3SIMYTHLO SSIINN :SILON
SS3¥A 19V ¥IMOd 13V 2€00-02-0096 3 02
SITNAOW ¥IMO-HOIH “139Vv13INDYO0L 8200-02-0096 3 6l
G0d ‘Alquessy ajeld pu3 89+2-02-G006 3 8l
GOd ‘19n0D ajnpo 0L¥6-02-00.€ 3 Ll
9|9ed OMY ¢ ‘dwel) s|qeQ yog Nds €199-02-00.€ S 9l
Joise\ | LvVd ‘@seg 10Bjuo) Hoys $€99-02-002€ S Sl
¥3ILSVIN ‘1SOd HOLVYINSNI €G1¥-02-00.€ S 14
¥3LSVYIN 3LV 1d D1 "AON ¥3IMOd 20d Y¥L¥-02-00LE 3 €l
¥3LSVYIN ‘'3LV1d ISNI "AON ¥3IMOd 20d €vL¥-02-00LE 3 4}
Ja)se|N yono-oN di Joejuog a|npoj Jemod YbiH ¥¥S51-02-002E S Ll
‘eld Yeys .8/G 104 bury 81A1g-0 souelEs|)-MOT 1 1-¥000059-069€ S ol
ITNAOW ¥IMOJ-HOIH NId-G 20d “1v3S 1G-1098255-G19¢ 3 6
[931S Ao|ly [eMOQ Wi9] X WWG 11-9105010-0¥S€ 4 8
[991s Ao|ly [amoQ WiZ] X wWwy 11-210¥0L0-0¥S€ 4 L
(8€€Z NIQ) SS ‘lomoQ Wwig| X wiwg 12-2L0€0L0-0VSE S 9
iod dno g X HIN MaI0g 105 11-6002961-00S€ S S
anig ‘SOHS wwol X -9\ G1-9109901-005€ 9 14
pallddy-a.d ‘en|g ‘SOHS wwz| X L-9N VG1-2109901-00S€ 14 €
anjg ‘SOHS WWog X L-9N G1-0209901-005€ 4 [4
paiiddy-aid ‘anig ‘SOHS WWZ| X G'0-EN VS1-2108501-005€ S b
NOILdIYOSs3a H39NNN 1Yvd ALD| 'ON W31l
1 st oes| | sHed W

oEn; Plelte] :o:n:ummoi .>m~;

(umoys jou JaA0D)

-GO0d-1¢l6

“196ueyo |00} 0} Buunow uaym qj-ul g 9

‘loge| anbio} uo umoys anjea o} anbio] "8}}007 ON G

"ysnij mojdq ,,0L0°0 03 Ysnid / 222 - 69. 81007 "

‘saoens diy/aseq joejuod Bunew 0} asealb aAoNpuod JaAjis Alddy ‘¢
‘gl-ul G ‘ey300] oN “saje|d yum palddns sisusiseq ‘g

‘pasodxa ,91/¢ Buines| ssald |

S9JON

qrul gy
(Moo oN

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-22



Manual, High Current Module, PC5
Document #9620-20-F-PC5-03

€0 G0d-02-0€96 | 9 Z'l €40 EI3HS  |-EZO0G) #103rO¥d | NOLOINON TIONY pie . .
NOISIAGY $IANINONIMYED | 375 | 31vDs J8Bueyo |00 0} Buunow usym q-ul 68 "9
‘l2ge| anblio} uo umoys anjeA o0} anbio] °8})007 ON ‘G
G1/9Z/0L-UOUON' A8 003D (umoys jou JaroD) "ysny mofeq ,010°0 O} Ysn|d / 222 - 679/ 80Tt
Buimelq Jswoisny aINPoN Jomod GOd 'saoepns dij/eseq j0ejuoo Bunew o} esealb aAONPUOD JoA|is Alddy "¢
Eany GL/€Z/0)-UOSMET'Q A8 NMVaa ‘ql-ul G ‘@100 oN “sojeld yum pajiddns sisuslse ‘g
1LV 40 NOILVZIFOHLNY N3LLIIM JOI¥d HLIM 3O 3300 NO 1d3DX3 d3INNYW waoaxw :@ _\\m mc_>N0_ me‘_n_ —\
ANV NI G3DN00¥d3y 38 OL LON “DNI ‘NOILYWOLNY TVIILSNANI 11V 4O AL33dO¥d ) . WQHOZ
SIHONI
Aueduiog paisjsibay 4006 OSI NOLLYWOLNY - NI 33Y SNOISNIWIQ TV
woael-je mmm 6628°C//6L6°L+ Xed TvIdLSNANI - < "ONIMYYA FTVOS LON O
wooe-je@ojul ews  GLLOTLL 616 L+ 191 ( QIS
VSN 665/ ON “xady ‘eAld y1ompooD LE0L ISIMYTFHLO SSTINN :SILON
SS3YA 319v0 Y3aMOd 139V 2€00-02-0096 l 6l
S3TNAOW HYIMOJ-HOIH “138V1 3INDYO0L 8200-02-0096 l 8l
G0d ‘Alquassy ajeld pug 8912-02-G006 I Ll
G0d 490D a|npoly 011¥6-02-00L€ l 9l
|00 ‘Bsegq }0eju0) y# Hoys /112/-02-00L€ S Sl
8|9eD OMY ¥ ‘dwe|D 8jged jjog Jds £99-02-00L€ S vl
7001 ‘diL 1OVINOD 8G1¥-02-00L€ S €l
7001 ‘31V1d 9L "AOW ¥3MOd 20d Zvly-02-00L€ l cl
7O0L ‘A1V1d "ISNI "GO ¥3IMOd 20d Ly1¥-02-00.€ l L
"e1d Jeys .8/§ 104 Bury 8|A1S-0 8oueIEd|D-MOT 1 1-¥000059-069¢€ S 0l
80-2687 | Aollews-67 ¥4 X Q0. 16" ‘Bunds arem 12-10L10€2-019¢ S 6
[99)S Ao|ly [oMOQ WWQ| X Wwg 11-91L0S010-0¥S€ [4 8
[931S Aojly [oMOQ WWZ| X Ww 11-2L0¥01L0-0¥S€E [4 A
(8€€Z NIQ) SS ‘|eMoQ Wiz | X wwg 12-2L0€0L0-0¥SE S 9
Jlod dnd G X pIN MI0G 105 1 1-6002961-00S€ S S
paliddy-a.d ‘enig ‘SOHS wwgl X L-9W VS1-9109901-005€ [4 14
an|g ‘SOHS wwgl X -9\ G1-9109901-00S€ 9 €
paliddy-a.d ‘enig ‘SOHS Wwzl X L-9W VS1-2109901-005€ 14 14
paliddy-a.d ‘enig ‘SOHS Wwg X G'0-EN VS1-8008501-00S€ S I
NOILdIYOS3a d39INNN 18Vd| ALD| 'ON AN3LI

C 9ION

SHed 1-G0d-1¢l6

i | ueeusess] i

m.on; Joyi 7 co:u:ummi .>m~;

Pinnacle Park ¢ 1031 Goodworth Drive « Apex, NC 27539 USA « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com « Email: info@ati-ia.com

F-23



	F. High-Current Modules
	PC5—High-Current Module
	1.	Product Overview
	2.	Installation
	2.1	Module Cable Installation
	2.2	Module Installation
	2.3	Module Removal

	3.	Operation
	4.	Maintenance
	5.	Troubleshooting and Service Procedures
	5.1	Troubleshooting
	5.1.1	Troubleshooting Sequence

	5.2	Service Procedures
	5.2.1	Master Module Contact Tip Replacement
	5.2.2	Tool Module Contact Tip and Wave Spring Replacement
	5.2.3	Module Contact Base Replacement
	5.2.4	Seal Replacement


	6.	Serviceable Parts
	7.	Specifications
	8.	Drawings

